B P IBEK IR IKE F b xf R =

*I.IIHE

AR NBEKERKE FE X HEE
KERERRBEE

FREI1E5R

B2 iy RO E AL ED A B IR 1 ER




WPy — T

_-:u'--mulal-"ﬂmzmlmm-
--:Elmm-imm-mmmnmnn
[ 7.39] 1.60] 205 419] 2401 190 1400 29
--TE.-m-ﬂ“-im-m_-ﬂl
-Imnmmmmmm-m-ﬂ
H6913 | | BB | 246] 722 1500 1250 672
[!HEIII-- i -ﬂﬁmm-ﬂmﬁmmmm
H6.11.06] | sk #& | 17.1] 7.7 1.30] 86| 3951 38.0] 15.0] 13.0 3.2]
H7.200 | | o 88 | 112] 757 400 1091 4871 20001 74.0] 30.00 4.2]
-I e | 18] 721 260 29 570] 75.0] 350] 38.0] 33.0]
4.25 mr.mnm--m-mmmnm

(H8.1.10 | i B 8.8 : .

FE.3.12 | 8:50] M8 | 100 T2 369 170|433 8101 50.0] 27.0] 3.3
H8.4.17 [10:25] & # | 16.3] 7.43] 2.30] 1861 6es] 290.0] 210.0] s54.0] 2.1
[HE.5.14 | 9:15] oo | 198] 720 205 122] 692] 42.0] 2901 13.0] 3.6]
HE.6.11 [10:15] & -B | 23.7] 7.18] 290] 2211 263] 520.01 500.01 40.01 _ 16|

[ [& m[PH] DO JORPINE&EI BOD]COD| SS In-hex]
_L_-mmm-mmnmmnﬂ
T _-‘ﬂ-ﬁlﬁﬂﬂ_ﬂ!ﬂ‘ﬂ




o " '.‘:‘ e "'J:‘Tj::-j' 4
&N\ AZsbL
en N

L v
o
\"'Fq“_ [ .::._rr -I"'r.-\.-

g 1

e S, B
LA R T
i Lk el

#92,0007
#1,4007

2,000 X 3 =6,000 A
1,4007 X 3 =4,200 A

— B ERKERHE 46007 A
4600x 4,200 A=1,932m 3



H3.12.28 H4.7.15 H5.1.31 H5.8.19 H6.3.7 H6.9.23 H7.4.11 H7.10.28 HS8.5.15 HS8.12.1




H H
5. 5.

HHHH
6. 6. 6. 6

3. 6. 7. 9. 11 1. 3. 5. 7. 9. 11 1.
12 13 20 .9 19 11 17 12 13 .1 11 14 12 14 23




3. 3. 5. T
111 14 12 14 23

3. 5. 7. 9. 11 1

1.
112 9 12 13 20 .9 19 11 17 12 13

11

9. 11 1. 3. 5. 7. 9.

4. 4. 5. 5. 5. 5. 5. 5. 6. 6. 6. 6. 6. 6. 7. 7. 8 8. 8.
.1 10 22 10 8

< b=

2 6




H3.6.11 H3.12.28 H4.7.15 H5.1.31 H5.8.19 H6.3.7 H7.4.11 H7.10.28 HS8.5.15 HS8.12.1




o omow  BRBRER

BRI H—bT KT
YIFiE i 5

165.5

NMEIFE T— KT BT

[}

d
T

MO F



O B B |

DOMD$k1E

1.0LLF
1.0~25
2.5~3.0
3.0~3.5
35k




B wEFI S0 (- RRER PN

1B rhi | S
LGRS
i &nbm KRNy

=
ﬂlv._._m_. tlﬂms
o :

i U |
. ! VLT AL | TR ek | SO MRPEIED | - ) AN RS




	スライド番号 1
	スライド番号 2
	スライド番号 3
	スライド番号 4
	スライド番号 5
	スライド番号 6
	スライド番号 7
	スライド番号 8
	スライド番号 9
	スライド番号 10

